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Things you will need:
+ A pencil

What to do:

« Choose at least four subtractions to work out.
Draw a line from the smaller number to the bigger number.
Use Frog to work out the difference between the two numbers.
* Remember to add up your hops and jumps at the end!
6000 - 5642 6002 - 6938 5000 - 3981
4005 - 3964 9000 - 4567 6001 - 4983

3004 - 2572

_6000 - 5642 = ..

/N

1 1
5642 5650

SCt-r-e-t-c-h:
Work out the answers to 6003 — 4579 and 5010 — 3678.

Frog needs to work a bit harder for thesel P

Learning outcomes:

+ | can use Frog to subtract 4-digit numbers from multiples of 1000 (e.g. 4000 — 3786).

+ | can use Frog to subtract 4-digit numbers when the larger number has zeros (e.g. 4002 - 3987).

+ | am beginning to use Frog to subtract pairs of 4-digit numbers which are further apart from
each other.
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